Calculus 1 — Set 5.9 #1-10
Given: [0 F(x)dx=2 [ZF(x)dx=3
[Pg(x) dx=-1 [Zg(x) dx=4

1. [2f(x)dx=
2 £(x) dx=[; f(x) dx+ [ £(x) dx
[Zf(x)dx=2+3
[Zf(x)dx=5

2. J2[f(0+29()]dx=
J2LE 00+ 29 (0] dx =[Z f (%) dx+ [Z2g(x) dx
[21F () + 290 ] dx =[ £ (x) dx + 27 g(x) dx

J

ol

J[F (0 +2g9(x)] dx =5+ 2(4)
Jo[f(X)+29(x)]dx=5+8
ol

[2[f () +2g(x)] dx =13

3. [ g(x) dx=
2903 dx =, g (%) dx + [ g (x) dx
4=—1+jl2 g (x) dx
5= g(x) dx
[Zg(x)dx =5

4. [)g(x)dx=
[y 90 dx=—[Zg(x) dx
[y 9(x) dx =~ (4)
jzog(x) dx =—4



J;3F(x) dx=

[73f(x) dx=3[, f(x) dx=
[;3f(x) dx=—3] f(x)dx=
[,3f(x) dx=-3(3)

[}3f(x) dx=—9

[Fg(x) dx=
[{g(x) dx=0

[[2f(x)-3g(x)] dx =

[2[2F (x)-3g(x)] dx = 7 2f (x) dx — [* 3g(x) dx
J2[2F(0-3g(x)] dx = 2[° £ (x) dx =3[ g(x) dx
[[2f(x)-3g(x)]dx =2(5)-3(4)
[2[2f(x)-3g(x)] dx =10-12
J2[2f(x)-3g(x)] dx =—2

[J[2f(x)+3g(x)—4]dx =

[J[2f(x)+3g(x)—4]dx=[ 2f(x) dx + [, 3g(x) dx — [ 4 dx
jg[Zf(x)+39(x)—4]dx= 2[; f(x) dx +3I; g(x) dx—j; 4 dx
[,[2f()+3g(x)—4]dx =2(2) +3(-1) - [4x ],
[;[2f(x)+3g(x)-4]dx=4-3-[4-0]
[J[2f(x)+3g(x)-4]dx=1-[4]
[;[2f(x)+3g(x)—4]dx=-3



9. [7f(x)dx+[, f(x)dx=
[2F(x) dx+[, F(x)dx=[" f(x)dx—[ f(x)dx=
[2F(x)dx+[) F(x) dx=3-5
[2F(x) dx+[) F(x) dx=—2

10, [* g(x) dx+[0 g(x) dx =
I} 909 dx+{3 9() dx=[7 g(x) dx [ 9(x) dx=
IZ 90 dx+[; g(x) dx=5-4
[2 () dx +[{ g(x) dx=1



